7C1001

7A1503

7A1506

3R4011

7B6551 3R4010

282150

3P1103

2F1233 7A1500

7XS013 \

282010

’/ 2R1014
‘ 252038

282126

252024

3B5101
PN

2F1661 385100 292035

282010
2F1204

2F1408

3XS008 (7

7R1184 s 7A2000
7B4005 \ £ D7 F 7A2002 Optional American quick release fitting
}\\/ QL
'4— 7A2001 Optional European quick release fitting

“ 2F1641

4AW2015 2F1404

N 2F1407
o] 3P1055

4AW2002

4B1200

WWW.PCCOX.CO.Uk REV DATE

CCA380A35&5 m Téf!ii%ﬂcggg'ggﬂao B 25/09/2003

Quality Sealant Applicators




7C1001

8 7A1503

7A1506

3R4011

7B6551 3R4010 2582150

3P1103

2F1233
7XS013

7A1500

282010
252024

')" 2R1014
282038

=

282126

3B5101
FAN

2F1661 385100 252035

2F1408

3XS008
7R1184

7B4005

7A2000
@47 7A2002 Optional American quick release fitting
@4— 7A2001 Optional European quick release fitting

2F1404

4AW2015
2F1407

4B1200
4AW2002

WWW.PCCOX.CO.uk REV DATE

CCA380A35&5

sales@pccox.co.uk
Quality Sealant Applicators TEL44(0)1 635 264500 B 25/09/2003




Parts List

STOCK No

DESCRIPTION QTY

2F1204

M8 Lock Nut

2F1233

1/4" UNC Nut

2F1404

Spring Washer

2F1407

Washer

2F1408

Washer

2F1641

M6 x 10mm Button Head Screw

2F1661

M6 x 25mm Screw

2R1014

Reducer Flange

252010

O Ring

252012

O Ring

252024

O Ring

252035

O Ring

252038

O Ring

252126

3 7/8" Piston U seal

252150

Dump Valve Diaphragm

3B5100

Bulkhead Bung

3B5101

Bulkhead/Piston Plate

3P1055

Plunger 18.5mm

3P1103

Piston (Including Air Fitting)

3R4010

Reducer

3R4011

Plastic Backing Ring

3XS008

Stand Off

4AW2002

CCA 380 Swing Frame

4AW2015

Outer Plunger Assembly 3.5 & 5:1

4B1200

Air Gun Butt Assembly

7A1500

Dump Valve Body assembly

7A1503

alalalalalnlalalalaldlalalalalolalalvalviolvIivIIo =~

Regulator Assembly (including O ring
and washer)

7A1506

Spool valve assembly

7A2000

Standard Nut and Tail Connection 1

7A2001

European Quick Release Fitting
Assembly

7A2002

US Quick Release Fitting Assembly

7B4005

Plastic Cartridge Shroud

7B6551

Barrel 272mm

7C1001

Air Gun Back Cap

7R1184

Plunger Rod 238mm

7XS013

Barrel Strap (including screws/nuts)

373500

Alalalalalal—-

Coiled Tube

CCA380A35&5

Quality Sealant Applicators

WWW.PCCOX.CO.uk
sales@pccox.co.uk
TEL:44(0)1635 264500

REV

DATE

25/09/2003




